Complex Power

Power Triangle

Reactive Power (VAR)

Active, Real or True Power (W)

Complex Power
S=P+jQ=V, il =V Z0,) (1,s £ =0, ) =V, e £0=S2O  (where 0=6,-6,)

Apparent Power =S =[S| =V, I, =/P? +Q?

Real Power =P =Re{S} =Scos¢ (where 6=6,-0)

Reactive Power =Q =Im{S} =Ssind (where 6=6,-6,)

Power Factor

pf:gzcose (where 6=6,-6,)

pf is lagging if current lags voltage (i.e., 0°<&<90° where 6=0,-6.)

pfisunity if =0 (where 6=6,-6,)

pf is leading if current leads voltage (i.e., -90°<&#<0° where 6=6,-6,)




